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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. Let number of stamps Michael had at first = 35u  (multiple of 5, 7) 

 Number of stamps Tom had = 
4
5
 x 35u = 28u 

 Number of stamps Michael gave away = 
3
7
 x 35u = 15u 

 At last, number of stamps Michael had = 35u – 15u = 20u 

 Difference in number of stamps between Michael & Tom = 28u - 20u = 8u 

 8u = 40 

 u = 40 ÷ 8 = 5 

 Number of stamps Tom had = 28u = 28 x 5 = 140 

 
 
 
 
 

Ans:  140 
 
 

 

 
7. a) 

Difference in spending between Wednesday and Friday = 24 – 16 = $8 

 b) 

 Total amount of spending on Monday and Tuesday = 32 + 14 = $46 

 Total amount of savings on Monday and Tuesday = 40 + 40 – 46 = $34 

 c)  

 Days when spending are below $20 are Monday, Wednesday and Thursday. 

 

 

Ans:  (a)  $8 
 (b)  $34 
 (c)  Mon,  

Wed and Thurs. 
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8. Extra distance travelled by Ali = 30 x 40 = 1200 m 

 Distance Sara jogged = (7000 – 1200) ÷ 2 = 2900m 

 Distance Ali jogged = 2900 + 1200 = 4100m = 4.1 km 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
Ans:  4.1 km  

 

 

9. ∠ BKH = 90 – 50 = 40° 

 ∠ HBK = 360 – 90 – 90 – 70 = 110° 

 ∠ BHK = 180 – 40 – 110 = 30° 

 ∠ BHC = 90 – 30 = 60° 

 ∠ AHC = 180 – 60 = 120°  

 

 

 

 

 

 

 

 

 

Ans:   120° 
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10. a) 

 Cost of 3 pencils and 1 eraser = 3b + b + 10 = 4b + 10 cents 

 b) 

 Cost of 8 pencils = 8b = 8 x 35 = 280 cents = $2.80 

 Cost of erasers = 5.50 – 2.80 = 2.70 

 Cost of each eraser = 35 + 10 = 45 cents = $0.45 

 Number of erasers = 2.70 ÷ 0.45 = 6 

   

 

 
 
 
 
 
 
 

Ans:  (a)  4b + 10 cents 
 (b)  6 

 

 

11. Children ticket sales = (1 332.50 – 635.50 ) ÷ 2 = $348.50 

 Adult ticket sales = 348.50 + 635.50 = $984 

 Let number of children = u 

 Number of adults = 2u 

 Extra adult ticket cost due to $3.50 extra = 2u x 3.5 = 7u 

 Total adult ticket cost = 2 x children ticket cost + 7u = 

 2 x 348.50 + 7u = 984 

 7u = 984 – 697 = 287 

 u = 287 ÷ 7 = 41 

 Number of children who went to concert = 41 

  

 

Ans:   41 children 
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12. a) 

 Figure number = n 

 Number of shaded triangles = (n+1) x (n+1) 

 Number of unshaded triangles = 2n + 1 

 For Figure 4. 

 Number of shaded triangles = 5 x 5 = 25 

 Number of unshaded triangles = 4 x 2 + 1 = 9 

 Total number of triangles = 25 + 9 = 34 

 b) 

 (n+1) x (n+1) = 529 = 23 x 23 

n + 1 = 23 

n = 23 – 1 =22 

 c) 

 unshaded triangles = 2n + 1 = 63 

 2n = 62 

 n = 62 ÷ 2 = 31 

 Number of shaded triangles = n+1) x (n+1) = 32 x 32 = 1024 

 Total triangles for Figure 31 = 63 + 1024= 1087 

 

Ans:   (a)  25, 9, 34 

 (b)   22 
 (c)   1087 

 

 

13. a) 
 Total painted area = 9 x 7 x 2 + 9 x 4 x 2 + 4 x 7 x 2 = 254 cm2 
 b) 
 Number of 1-cm cubes with 1 face painted = (9-2) x (7-2) x 2 + (9-2) x (4-2) x 2 + 

(7-2)x (4-2) x 2 = 118  
  
  

Ans:   (a)  254 cm2 

 (b)  118   
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14. 
3
4
  of remainder = 24% of total stamps  

 
1
4
  of remainder = 24 ÷ 3 = 8% of total stamps 

 Percentage of Jerry’s stamps = 100 – 24 – 8 = 68% 

 68%  408 stamps 

 1%  6 

 100%  6 x 100 = 600 

 

 

 

 

 

 

 

         Ans:  600 

 

 

15. Excess amount the boys sold = 165 – 65 – 65 = 35 

 Difference in averages = 65 – 60 = 5 

 Number of girls = 35 ÷ 5 = 7  

 

   

 

 

 

 

         Ans:  7  
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16. a) 

 ∠KCB = 110° 

 ∠KCF = 180 – 110 = 70° 

 b) 

 ∠CKF = 180 – 70 – 30 = 80° 

 ∠EHG = ∠DKH = ∠CKF = 80° 

 ∠GEH = 180 – 60 – 80 = 40° 

 ∠AEG = 180 – 40 = 140° 

  

  

 
Ans:   (a)  70° 

 (b)  140° 
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17. Area of 4 semi-circles = π x 4.5 x 4.5 + π x 6 x 6 = 56.25π  cm2 

Area of rectangle = 9 x 12 = 108 cm2 

 Area of large circle = π x 7.5 x 7.5 = 56.25π  cm2 

 Shaded area = 56.25π  + 108 - 56.25π  = 108 cm2 

 

 

Ans:  108 cm2 
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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. a)  

 

 b) ∠ DEC = 45 ° 

Ans:  (a)  as shown 
 (b)  45 ° 

 

 
7.     

       

Ans:  As shown . 
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8. Distance travelled = 
3
4
  X 64 = 48 km 

 Expedited time = 45 min – 15 min = 30 min = 0.5 h 

 New speed = 48 ÷  0.5 = 96 km / hr 

 
 
 
 
 
 
 
 
 
 
 
 
 
Ans:  96 km / hr 

 

 

9. Volume of water at first = 112 x 80 x 14 = 125 440 cm3  = 125.44 litres 

 Volume of water at last = 125.44 – 28.8 = 96.64 litres 

 
2
5
  of water  96.64 litres 

 
1
5
  of water  96.64 ÷ 2 = 48.32 litres 

 
5
5
  of water  48.32 x 5 = 241.6 litres 

   

 

 

 

 

 

 

Ans:   241.6 litres 
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10. a) 

  Amount left on Tuesday = 18 x  
2
3
  = $12   

 b) 

Amount left on Wednesday = 
3
4
  x 12 = $9 

 Fraction spent on Thursday = 2 ÷ 9 = 
2
9
  

 
Ans:  (a)  $12   

 (b)  
2
9
  

 

 
11. Ratio of value of 20-cent coins to 50-cent coins  3 x 0.2 : 4 x 0.5  0.6 : 2   

 3u : 10u  

 3u + 10u = 52 

 13u = 52 

 u = 52 ÷ 13 = 4 

 Value of 20-cents coins = 3 x 4 = $12 

 

` 

 

Ans:  $12 
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12.  Let Carl’s amount = 100u 

 Bob’s amount = 0.8 x 100u = 80u 

 Ali’s amount = 0.4 x (100u + 80u) = 72u 

 Difference between Bob and Ali’s amount = 80u – 72u = 8u = $96 

 u = 96 ÷ 8 = 12 

 Total amount of money = 100u + 80u + 72u = 252u = 252 x 12 = $3024 

 

 

 

 

 

 

Ans:   $3024 
 

 

13. Area of PBQ = 
1
4
  x 28 x 21 = 147 cm2 

 CR = 
3
7
  x 21 = 9 cm    (3/4 + 4/4 = 7/4) 

 Area CRS = 9 x 28 x 
1
2
  = 126 cm2 

 AS = 
3

10
  x QS 

Area of PAS =  
3
10

  x 28 x 21 x 
1
2
  = 88.2 cm2 

Shaded area = 28 x 21 – 147 – 126 – 88.2 = 226.8 cm2 
   
 Rectangular area = 28 x 21 = 588  

Fraction of shaded area = 226.8 ÷ 588 = 
27
70

  

 

Ans:   
27
70
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14. a) 

∠TOP = (180 – 11 - 11)  = 158° 

 ∠TOR = 158° – 60 = 98° 

 b) 

∠ORT = (180 – 98) ÷ 2 = 41° 

 ∠PRT = 60 + 41 = 101° 

 

 

 

         Ans:  (a)  98° 

          (b)  101° 
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15. a) 

 Total difference between boys marks and average marks = (82-79) x 20= 60 

 Difference between girls average and class average = 86 – 82 = 4 

 Number of girls = 60 ÷ 4 = 15 

 Total increase in average = 0.5 x (20 + 15) = 17.5 

 Nicole’s marks = 82.5 + 17.5 = 100 

 b) 

 Total marks scored by girls = 86 x 15 + 100 =1390 

 Average marks of girls = 1390 ÷ 16 = 86.875 ≈ 86.9 

   

 

 

 

 

         Ans:  (a)  100 

          (b)   86.9  

      
 
 
 

 

16. Number of members in Group B = (138 – 12) ÷ 2 = 63 

 Number of Group A members = 63 + 12 = 75 

 Ratio of boys in Group B to those in Group A = 3 : 4  54  :72    

 Ratio of girls in Group B to those in Group A = 3 : 1  9 : 3 

 Ratio of members in Group B to those in Group A = 63 : 75   (sum of ratios) 

  

 Number of boys in Group A = 72  

 

 

         Ans:   72 
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17. Area of big quadrant = 
22
7

 x 14 x 14 x 
1
4
  = 154 cm2 

 Area of small quadrant = 
22
7

 x 7 x 7 x 
1
4
  = 38.5 cm2 

Shaded area X minus shaded area Y = area of big quadrant – area of small 

quadrant – (rectangular area – area Y)  - area Y 

= 154 – 38.5 – 14 x 7 = 17.5 cm2   

 

 

Ans:  17.5 cm2   
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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. Total number of notebooks & files  bought = n + 3n = 4n  

 Excess cost of notebooks = $25 

 Cost of 4n files = (160 – 25) ÷ 2 = $67.5 

 Number of notebooks and files bought = 3n = 3 x 5 = 15 

 Cost of each file = 67.5 ÷ 15 = $4.50 

  

  

 

  

Ans:  $4.50 
 

 

 
7. Radius of semi-circle = 15 cm 

 Area of 2 semi-circles = π x 15 x 15 = 225π  cm2 

 Area of 2 quadrants = π x 30 x 30 x 
1
2
  = 450π cm2 

 Area of shaded crescents = 60 x 30 - 450π = 1800 - 450π cm2 

 Area of shaded region = 225π + 1800 - 450π = 1800 – 225π = 1093.5 cm2 

 
Ans:  1093.5 cm2 
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8. Diameter of small circle = 10 cm 

Diameter of large circle = 20 cm 

 Perimeter of 4 quadrants of small circle =  π x 10 = 10 π cm 

 Perimeter of 1 quadrants of large circle = π x 20 x 
1
4
 = 5 π cm 

 Perimeter of shaded part = 10 π  + 5 π = 15 x 3.142 = 47.13 cm 

 
 
 
 
 
 
 
 
 
 
 
 
 
Ans:  47.13 cm 

 

 

9. Ratio of Mei Ling’s savings to her mother’s contribution = 60 : 30  2 : 1  

  2u : 1u 

 Total savings = 1u + 2u = 25.20 

 3u = 25.20 

 u = 25.20 ÷ 3 = 8.40 

 Amount her mother put in = 1u = 1 x 8.40 = $8.40 

  

   

 

 

 

 

 

Ans:   $8.40 
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10. Let u = time in hours from 8.30 am 

 Distance travelled by Peter in 1.5 hour = 1.5 x 70 = 105 km 

Distance travelled by Peter = 70 x u = 70u 

Distance travelled by John = 90u – 105 

(8:30 is1.5h after 7am) 

 When they met, 
 90u – 105 = 70u 
 20u = 105 
 u = 105 ÷ 20 = 5.25 hr = 5 hr 15 min after 8.30 am 
 = 13.45 hr = 1.45 pm 
 
 

Ans:  1.45 pm 
 

 

11. Let number of children = 12u 

 Number of stamps of 
1
2
 of them = 

1
2
  x 12u x 4 = 24u 

 Number of stamps of  
5
12

  of them = 
5
12

 x 12u x 3 = 15u 

 Number of remaining children = 12u – 6u – 5u = u 

 Number of stamps of remaining children = u x 2 = 2u 

 Total number of stamps = 24u + 15u + 2u = 41u = 533 

 u = 533 ÷ 41 = 13 

 Number of children = 12 x 13 = 156 

 

 

 

 

         

Ans:  156 children 
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12. a) 

Let total number of people who visited exhibition = 100u 

 Number of boys + number of girls + number of women = 25u + 32u = 57u 

 46 + 2 x number of girls + 88 = 57u 

 2 x number of girls = 57u – 134 

 2 x (25u – 46) = 57u -134   (Number of girls = 25% - 46) 

 50u – 92 = 57u – 134 

 7u = 42 

 u = 6 

 Number of men = 0.43 x 100u = 43u = 43 x 6 = 258 

 b) 

 Total number of people = 100u = 100 x 6 = 600 

 

 

 

Ans:   (a)  258 
 (b)  600 

 

 

13. a) 

∠EDC = (180 – 106) ÷ 2 = 37°  (CDE is isosceles) 

 ∠FDH = 37 + 18 = 55° 

 ∠FHD = 180 – 52 – 55 = 73° 

 b) 

 ∠HGJ = 180 – 73 – 40 = 67° 

 ∠FKG = 67 – 52 = 15° 

 

 

Ans:   (a)  73° 

 (b)  15°     
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14. a) 

Average height of first 3 men = 5.01 ÷ 3 = 1.67 m 

 b) 

New average height after 4th man joined = 1.67 – 0.08 = 1.59m 

 Total decrease in height = 0.08 x 3 = 0.24m 

 Height of 4th man = 1.59 – 0.24 = 1.35 m 

 New average height after 5th man joined = 1.59 + 0.06 = 1.65 m 

 Total increase in height = 4 x 0.06 = 0.24 m 

 Height of 5th man = 1.65 – 0.24 = 1.89m 

         Ans:  (a)  1.67 m 

          (b)  1.89m 

 

 

15. a) 

Let t = time in minutes after Tap X was turned on at 10 am. 

Volume from Tap X = 2.8 x t = 2.8t litres 

Volume from Tap Y = 3.2 x (t – 2) = 3.2t – 6.4 

Volume from Tap Y = Volume from Tap X 

3.2t – 6.4 = 2.8t 

3.2t – 2.8t = 6.4 

0.4t = 6.4 

t = 6.4 ÷ 0.4 = 16 min after 10am = 10.16 am 

b)  

Volume of either tanks = 2.8 x 16 = 44.8 litres 

Area of base = 56 x 32 = 1792 cm2 

Height of both tanks = 44800 ÷ 1792 = 25 cm 
        Ans: (a) 10.16 am 
         (b)  25 cm 
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16. a) 

 Let Figure Number = n 

 Number of shaded square in Figure 5  = n + 1 = 5 + 1 = 6 

 Number of unshaded squares in Figure 5 = (n+1)x (n+1) – (n+1)= n x (n+1) = 30 

 b)  

 Total number of squares = (n+1) x (n+1) = 256 = 16 x 16 

 n + 1 = 16 

 n = 15,  Figure 15 has 256 squares 

 c) 

 (n+1) x (n+1) = 529 = 23 x 23 

 n +1 = 23 

 n = 22 

 Number of shade square in Figure 22 = n + 1 = 22 + 1 = 23 

 

         Ans:  (a)   6,  30 

          (b)   Figure 15 

          (c)   23  

      
 
 
 

 
17. a) 

Discounted price before GST = 0.8 x 2370 + 0.7 x 1250 =1896 + 875 = $2771 

 Price including GST = 1.07 x 2771 = $2964.97 

 b) 

 Amount he paid for 2nd computer = (3445.40 – 449.40) ÷ 2 = $1498 

 Payment for 1st computer = 1498 + 449.40 = $1947.40    

 Price of 1st computer before GST = 1947.40 ÷ 1.07 = $1820 

 Price of 1st computer before discount = 1820 ÷ 0.8 = $2275 

Ans:  (a)  $2964.97 

 (b)  $2275 
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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. Savings of Suresh and Marc = $100  (1) 

 Savings of Zainal and Marc = $193 

 Savings of 4 x Suresh and Marc = $193  (2) Zainal savings=4x Suresh’s 

 3 x (Suresh’s savings) = 193 – 100 = 93  (3) = (2) – (1) 

 Suresh’s savings = 93 ÷ 3 = $31 

 Marc’s savings = 100 – 31 = $69 

  

Ans:  $69 
 

 

 
7. Let mass of durian = u 

 Mass of watermelon = u + 640 

 Mass of jackfruit = (u + 640) x 2 = 2u + 1280 

 Total mass = u + u + 640 + 2u + 1280 = 4u + 1920 = 8720 g 

 4u = 8720  - 1920 = 6800 

 u = 6800 ÷ 4 = 1700 

 Mass of jackfruit = 2 x 1700 + 1280 = 4680 g = 4.68kg 

  

 

 

 

  

 

 

 

 

Ans:  4.68kg 
. 
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8. a) 

 Length of QR = 8.6 cm 

 b) 

  

 
Ans:  (a)  8.6 cm 
 (b)  as shown 

 

 

9. At first, 

 Ratio of Leon to Michael’s savings  9 : 7  27u :  21u 

 At the end, 

 Ratio of Leon to Michael’s savings 5 : 2   10u : 4u 

 27u – 10u = 17,  21u – 4u = 17u 

 17u = 680 

 u = 680 ÷ 17 = 40 

 Michael’s savings at first = 21u = 21 x 40 = $840 

  

 

 

 

Ans:   $840 
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10. a) 

 Month with the most savings = April 

 Aprils savings = 380 – 220 = $160 

 

 b) 

Savings at end of June = $540  
3
4
  

 
1
4
   $180 

 Total needed for present = 540 + 180 = $720 

         Ans:  (a)  April, $160 

 (b)  $720 

 

 

11. a) 

 Fraction that like short stories or novels = 1 - 
1
4
  = 

3
4
  

 b) 

 Percentage that like science magazines = 
64

360
  x 100 = 17.78% 

 c) 

 Percentage who like novels = 
3
5
 x 75% = 45% 

Ans:  (a)  
3
4
  

 (b)  17.78% 

 (c)  45% 
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12. Let price of television = u 

 Undiscounted price of mobile and TV = 1.4 x u = 1.4u 

 Discounted price of mobile and TV = 0.8 x 1.4u = 1.12u = 2016 

 Usual price of TV = u = 2016 ÷ 1.12 = $1800 

 

 

 

Ans:   $1800 
 

 

13. Let t = time in minutes after Taps were turn on. 

Base area of Tank A = 25 x 30 = 750 

Base area of Tank A = 25 x 50 = 1250 

Rate of height increase of Tank A = 1500 ÷ 750 = 2 cm / min 

Rate of height increase of Tank B = 1500 ÷ 1250 = 1.2 cm / min 

Water height of Tank B at first =  
1
4
  x 40 = 10cm 

Water height of Tank B = 10 + 1.2 t  

 Water height of Tank A = 2t  

 2t = 10 + 1.2t 

 0.8t = 10 

 t = 10 ÷ 0.8 = 12.5 min 

Ans:   12.5 min   
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14. a) 

∠ACB = 90 – 63 = 27° 

 b) 

 ∠DCG = 180 – 90 – 27 = 63° 

 ∠CGD = 180 – 63 – 63 = 54° 

 

 

         Ans:  (a)  27° 

          (b)  54° 

 

 

15. a) 

 Diameter = 20 cm 

 Perimeter of 12 semi-circles & 4 quadrants = 7 x π x 20 = 140π = 439.6 cm 

 b) 

 Area of 12 semi-circles & 4 quadrants = 7 x π x 10 x 10 = 2198 cm2 

 Area of square minus 4 corners = 80 x 80 – 4 x 10 x 10 = 6000 cm2 

 Area of mat = 2198 + 6000 = 8198 cm2 

        Ans: (a) 439.6 cm 
         (b)  8198 cm2 
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16. a) 

Extra distance Raja walked = 30 x 40 = 1200 m 

 
1
6
  of distance  1200 

 
6
6
  of distance  1200 x 6 = 7200 m 

 Raja’s speed = 7200 ÷ 40 = 180 m / min 

 Greg’s speed = 180 – 30 = 150 m / min 

 Greg’s distance = 1200 x 5 = 6000 m 

 Greg’s time = 7200 ÷ 150 = 48 min after 7:20 = 8.08 am 

 b) 

 Raja’s average speed = 180 m / min       

         Ans:  (a)   8.08 am 

          (b)   180 m / min 
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17. a) 

3
4
 x 

4
9
   

1
3
  Lee Peng’s ribbon was given to Janice  

2
3
 of Lee Peng’s ribbon = 126 

 
3
3
 of Lee Peng’s ribbon = 126 ÷  2 x 3 = 189 

 
1
3
  given to Janice  126 ÷ 2 = 63 

 b) 

 Ratio of Janice’s red to yellow numbers at first 1 : 2  5u : 10u  

 Ratio of Janice red to yellow numbers at last  6 : 5   12u : 10u 

 12u – 5u = 7u = 63 

 22u = 63 ÷ 7 x 22 = 198 

 

   

Ans:  (a)  63 

 (b)  198 
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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. 
2
3
 filled with water  2.25 ℓ  

 
1
3
   2.25 ÷ 2 = 1.125 ℓ 

 
3
3
  1.125 x 3 = 3.375 ℓ = 3375 cm3 = 15 x 15 x 15 cm3 

 Length of container = 15 cm 

  

   

 

   

Ans:  15 cm 
 

 

 
7. Cost of 1 set of 1 cupcake and 1 brownie = 2x + 0.8 

 Number of sets of 1 cupcake and 1 brownie = 
50

 2x + 0.8
  

  

 

 

 

  

 

 

 

 

Ans:  
50

 2x + 0.8
  

. 
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8. Let mass of Bag A = a 

 Mass of Bag B = b 

 b = a + 600    (1) 

 a = 600 + 
1
2
 b    (2) 

 b = 600 + 
1
2
 b  + 600   (3) substitute (2) into (1) 

 
1
2
 b = 1200 

 b = 2400 

 a = 600 + 
1
2
 x 2400 = 1800 

 a + b + c = 1800 + 2400 + 600 = 4800g 

  

 
Ans:  4800g 

 

 

9. Percentage spent on food  & drinks = 50% - 10% = 40% 

 40%  $480 

 1%  $12 

 100%  $1200 

 Percentage spent on clothes = 25% - 10% = 15%  

 Amount spent on clothes = 12 x 15 = $180 

  

Ans:   $180 
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10. Distance from Town A to Town B = 80 km/h x 2 hr = 160 km 

 Speed of truck = 160 ÷ (2 + 2) = 40 km / h 

 New truck speed = 40 + 10 = 50 km/h 

 Time at new truck speed = 160 ÷ 50 = 3.2 hr 

 

 

Ans:  3.2 hr 
 

 

 

11. a), b) 

         

 c) 

 Sum of all angles in E, T and R = 180 + 180 + 360 = 720°       

Ans:  (a)  as shown 

 (b)  as shown 

 (c)  720° 
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12. a) 

 Total spent from June to November = 800 + 600 + 700 + 1000 + 1100 + 900 

 = $5100 

 Average amount spent = 5100 ÷ 6 = $850 

 b) 

 Cost of necklace = 
5

 (4+5+3)
  x 900 = $375 

 

 

Ans:   (a)  $850 
(b)  $375 

 

 

13. Let total number of otah buns = 20u    (multiple of 4,5) 

 Number of otah buns  sold = 
3
4
 x 20u = 15u 

 Number of curry buns = 20u – 70     

Number of curry buns sold = 
3
5
 x 20u - 

3
5
 x 70 = 12u - 42 

 Difference between otah and curry buns sold = 15u – (12u – 42) 

 = 3u + 42 = 126 

 3u = 126 – 42 = 84 

 u = 84 ÷ 3 = 28 

 Remainder otah buns = 20u – 15u = 5u = 5 x 28 = 140 

 Remainder curry buns = 20u – 12u – 70 + 42 = 8u -28 = 8x28 – 28 =196 

 Fraction of remaining buns that are curry buns =  
196

 (140+196)
 = 

7
12

  

   

Ans:   
7
12
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14. a) 

 Let n = number of squares 

 Number of sticks = (n-1) x 3 + 4 = 3n + 1 

 = 3 x 13 + 1 = 40 

 b) 

 3n + 1 = 100 

 3n = 100 – 1 = 99 

 n = 99 ÷ 3 = 33 

 

 

 

 

         Ans:  (a)  40   

          (b)  33 

 

 

15. Volume of 4 3-cm cubes = 4 x 3 x 3 x 3 = 108 cm2 

 Total volume of water and cubes = 108 + 5747.3 = 5855.3 cm3 

 Base area = 40 x 20 = 800 cm2 

 Height of water level = 5855.3 ÷ 800 = 7.32 cm 

 

 

 

 

 

 

 

        Ans: 7.32 cm 
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16. a) 

 ∠ ECD = 90 ÷ 
4
5
  = 72° 

 ∠ DEC = 72°      (Isosceles triangle) 

 ∠ CDE = 180 – 72 – 72 = 36° 

 ∠ ADE = 90 – 36 = 54° 

 ∠AED = (180 – 54) ÷ 2 = 63°   (ADE isosceles triangle) 

 b) 

∠ DAE = 63°    

 ∠ BAE = 90 – 63 = 27° 

             

         Ans:  (a)   63° 

          (b)   27° 
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17. Ratio of number of cookies given to Ryan, Gerald and Tim  7 : 3 : 2 

  7u : 3u : 2u 

 After Ryan gave 1u (320 cookies) to Tim, the ratio becomes  

  7u – 1u : 3u : 2u + 1u  

 6u : 3u : 3u   where Tim had 50% as much as Ryan 

 u = 320 

 80% of cookies = 7u + 3u + 2u = 12u = 12 x 320 = 3840 

 10% of cookies = 480 

 100% of cookies at first = 480 x 10 = 4800 

 

   

Ans:  4800 
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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. Let mass of Rahim’s books = u 

 Mass of Jane’s books = 4u 

 4u – u = 59.4 – 20.1     (Jane’s suitcase minus Rahim’s) 

 3u = 39.3 

 u = 39.3 ÷ 3 = 13.1 kg 

  Mass of empty suitcase = 20.1 – 13.1 = 7 kg 

 

   

Ans:  7 kg 
 

 

 
7. Ratio of spending of Peggy to spending of Alice  2u : 3u 

 Peggy’s amount left minus amount spent =   +9   

 Ratio of money left of Peggy to those of Alice   2 : 1  (2u+9) : 
1
2
 (2u+9) 

         2u + 9 : 1u + 4.5 

 Total amount = 2u + 3u + 2u + 9 + 1u + 4.5 = 8u + 13.50 = 105.50 

 8u = 105.50 – 13.50 = 92 

 u = 92 ÷ 8 = 11.5 

 Amount Peggy had left = 2u + 9 = 2 x 11.5 + 9 = $32 

Ans:  $32 
. 
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8.  

    

         Ans:  (a)  as shown 

 (b)  as shown 
 

 

9. Surface area of original solid = 4 x 6 x 4 + 4 x 4 x 2 =  128 cm2 

 Total surface area that is red = 128 + 2x2 + 2x2 = 136 cm2 

  

 

  

 

 

Ans:   136 cm2 
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10. a) 

 Mass of object A = 180 – 60 = 120 g 

 b) 

 Total mass of A,B,C = 660 – 60 = 600g 

 Average mass of A,B,C = 600 ÷ 3 = 200 g 

  

 

 
Ans:  (a)  120 g 
 (b)   200 g 

 

 

11. 
5
7
  of ribbon A = 

5
7
 x 294 = 210 cm 

 
7
9
  of ribbon B = 210 cm 

 
9
9
  of ribbon B = 210 ÷ 7 x 9 = 270 cm 

 Length of 3 frames = (294 + 270) x 3 = 1692 cm = 16.92 m 

 Number of rolls of ribbon = 16.92 ÷ 9 = 1.88 ≈ 2  

  

 

 

 

 

 

 

Ans:  2 rolls 

 

 

 

 

 



P6 Maths SA2 2018 Paper 2 Worked Solutions – River Valley 
 

 www.sgtestpaper.com  5  
 

12. Let total number of T-shirts = 100u 

 Number of large-sized T-shirts = 40u 

 Number of medium-sized T-shirts = 0.6 x 60u = 36u 

 Number of small-size T-shirts = 100u – 40u – 36u = 24u 

 Difference in price between medium-size and small-sized T-shirts =  

 36u x 10 – 24u x 8 = 168u = $672 

 u = 672 ÷ 168 = 4 

 Price of large-sized T-shirts = 40 x 4 x 18 = $2880 

 

 

Ans:   $2880 
 

 

13. a) 

 Area of triangle GDC = 
1
2
  x 14.4 x 20 = 144 cm2 

 Area of shaded part = 
5
6
  x 144 = 120 cm2 

 b) 

 Area of rectangle = 
5
3
  x 120 = 200 cm2 

 Length of AD = 200 ÷ 20 = 10 cm 

   

Ans:   (a)  120 cm2 

 (b)  10 cm 
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14. a) 

Additional distance of Alan = 60 m/min x 40 min = 2400 m 

 
2
5
  of distance  2400m 

 
5
5
  of distance  2400 ÷ 2 x 5 = 6000 m 

 Total distance = 6000 m 

 b) 

 Benny’s speed = 6000 ÷ 40 = 150 m/min 

 Alan’s speed = 150 – 60 = 90 m/mn 

 

 

 

 

         Ans:  (a)  6000 m  

          (b)  90 m/mn 
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15. Let number of bookmarks initially = b 

 Let number of stickers initially = s 

 At first, both Jason and Kevin’s ratio of bookmarks to stickers  
1
2
 b  : 

1
2
 s 

 At last, ratio of Jason’s bookmarks to stickers  
1
2
 b - 7 : 

1
2
 s 

At last, ratio of Kelvin’s bookmarks to stickers  
1
2
 b  : 

1
2
 s - 12 

 
1
2
 b – 7 = 

1
9
  x 

1
2
 s      (1) 

 9b – 126 = s      (2) = (1) x 18 

 
1
2
 b  = 

1
6
 x ( 

1
2
 s – 12)     (3)  

 9b = 
3
2
  s – 36     (4) = (3) x 18 

 
1
2
 s = 126 + 36 = 162    (5) = (4) – (2) 

 s = 162 x 2 = 324 

 9b  - 126 = 324     substitute s to (2) 

 b = (324+ 126) ÷ 9 = 50 

 a) 

Kelvin’s stickers at the end = 
1
2
 s – 12 = 

1
2
 x 324 – 12 = 150 

 b) 

 Bookmarks Jason bought = b = 50  

        Ans: (a)   150 
         (b)   50 
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16. Area of semi-circle = 
1
2
  x π x 16 x 16 = 128π cm2 

 Area of 2 quadrant = 
1
2
  x π x 8 x 8 = 32π cm2 

 Area of 2 crescents = 8 x 8 x 2 - 32π = 128 - 32π cm2 

 Area of rectangle = 16 x 8 = 128 cm2  

Area of shaded parts = 128π – 128 - (128 - 32π) = 160π  - 256 = 246.4 cm2  

             

         Ans:  246.4 cm2  

   

 
 
 

 
17. a) 

Number of lollipops $20 can buy = 20 ÷ 4 x 5 = 25 

 Number of candies $20 can buy = 20 ÷ 5 x 8 = 32 

 Difference in number in each set = 32 – 25 = 7 

 Number of sets required = 98 ÷ 7 = 14 

 Number of candies = 14 x 32 = 448 candies 

 b) 

 Cost of 14 sets = 14 x 20 = $280 

 Govin’s allowance = 
5
2
  x 280 = $700 

 

   

Ans:  (a)  448 candies 

 (b)  $700 
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Show your working clearly in the space provided for each question and write your answers in 
the spaces provided. 
 
   

6. Difference in sale price between apples and oranges = $315 - $225 = 90 
 Difference in cost between one apple and orange = $0.20 
 
 Number of oranges = 90 ÷ 0.20 = 450 
  
 
  
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Ans:  450 
 

 
7. Ratio between number of Dawn’s stickers vs number of Evelyn’s stickes  
 1 : 4    3 : 12   3u : 12u 

 After Dawn and Evelyn gave away 
1
3
  and 

3
4
  of their stickers respectively, 

 Number of stickers Dawn has left = 3u – 1u = 2u 
 

Number of stickers Evelyn has left = 12u – 9u =  3u 
 
2u + 3u = 90 
5u = 90 
u = 90 ÷ 5 = 18 

  
 Number of stickers they had at first = 3u + 12u = 15u = 15 x 18 = 270 
 

Ans:  270 stickers 
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8. Total mass of 8 baskets = 23 x 8 = 184 kg 
 
 Let n = number of fruit baskets added 
  
 Mass of additional fruit baskets = 20.4 x n 
  
 Total mass after adding additional baskets =  

(8 + n) x 22 = 184 + 20.4n 
 
176 + 22n = 184 + 20.4n 
22n – 20.4n = 184 – 176 
1.6n = 8 
n = 8 ÷ 1.6 = 5 

  
 Number of additional fruit baskets = 5 
  
 
 
 
 

Ans: 5 baskets 
 

 

9. As AD is parallel to BC 
  

∠DAB = 47 + 90 = 137° 
  

 ∠EAB = 137 – 25 = 112° 
 

 △ABE is an isosceles triangle where AEB = ABE 
 
 X = (180 – 112) ÷ 2 = 34°   
 
 
 
 
 
 
 
 
 
 
 

Ans:  34°   
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10. radius = 6 cm 

 Perimeter of 3 quadrants = 
3
4
  x π x 6 x 2 = 9π cm 

 Perimeter of jagged edge = 4 x 6 = 24 cm 
 
 Total perimeter = 9 x 3.142 + 24 = 52.274 ≈ 52.27 cm 
 
 
 
 
 
 
 
 
 
 
 
 
 

Ans: 52.27 cm 
 

 

11. a) 
Let amount his sister had left = u 

 Amount Amos had left = 2u 
 
 75%  2u 

 100%  100 ÷ 75 x 2u = 
8
3
 u = amount Amos had at first 

 30%  u  

 100%  100 ÷ 30 x u = 
10
3

 u = amount his sister had at first 

  

 
8
3
 u  + 

10
3

 u = 1674 

 6u = 1674 
 u = 1674 ÷ 6 = 279 

 
 Amount Amos has in the end = 2u = 2 x 279 = $558 

 
 b) 
 Percentage decrease = (6u – 3u) ÷ 6u = 50% 

Ans:  (a) $558 

         (b) 50% 
:  
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12. Ratio of number of durian, chocolate and strawberry puffs  3u : 4u : 2u 
 Ratio of total cost of durian, chocolate and strawberry puff  
 3u x 5 : 4u x 3 : 2u x 4  15u : 12u : 8u 
 
 15u + 12u + 8u = 560 
 35u = 560  
 u = 560 ÷ 35 = 16 
 
 Sale of durian puffs = 15u = 15 x 16 = $240 
 
 
 
 
 
 

Ans:  $240 

 
 

 
13. a) 

Volume of container P = 10 x 30 x 25 + 60 x 12 x 25 = 25,500 cm3 
 
 b) 

Volume of bottom part of container Q = 60 x 15 x 25 = 22,500 cm3 
 
 Volume of top part of container Q = 25,500 – 22,500 = 3000 cm3 
 
 Height of water in top part of container Q = 3000 ÷ (10 x 25) = 12 cm 
 
 Total height of water in container Q = 12 + 15 = 27 cm  
 
 
 
 
 
 
 
 
 
 

Ans:  (a) 25,500 cm3 

         (b) 27 cm 
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14. Let number of boys = u 
 Number of girls = 40 – u 
  
 Number of bags distributed by boys = 4u 
 Number of bags distributed by girls = 3 x (40 – u) = 120 – 3u 
 
 Difference in bags distributed = 4u – (120 – 3u) = 7u – 120 = 62 
 7u = 62 + 120 = 182 
 u = 26 
 Number of boys =26 
 
         Ans:  26 boys 
 
 
 
 
 
 
 
 

 
15. Number of seconds for Sam to swim one length of the pool = 30 ÷ 1 = 30s 
 Number of seconds for Ben to swim one length of the pool = 30 ÷ 0.6 = 50s 
 
 Number of laps Sam swim in 600 secs (10 mins) = 600 ÷ 30 = 20 laps 

Number of laps Ben swim in 600 secs (10 mins) = 600 ÷ 50 = 12 laps 
 
The faster swimmer met slower swimmer exactly once per lap,  

 While slower swimmer met faster swimmer once or twice per lap, that is not exact. 
 
 Therefore number of times they met = 20  
 
 
 
 
 
 
         Ans: 20 
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16. a) 
  

 
 
b) 
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17. Let Cost of 1 eraser = u 
 Cost of 1 file = 2u 
 Cost of 5 files and 10 erasers = 5 x 2u + 10 x u = 20u 
 25% of Elle’s money = 20u 
 
 40% of 75% Elle’s money = 30% 
 30% of Elle’s money = 30 ÷ 25 x 20u =  24u 
 
 Number of erasers she bought with 24u = 24u ÷ u = 24 
 
 Total number of erasers bought = 10 + 24 = 34 

 

Ans:  34 erasers 
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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. Cost of washing 12 kg of blankets = 9 x 12 = $108 

 Undiscounted total cost = 266 + 10 = $276 

 Cost of washing curtains = 276 – 108 = $168 

 Mass of curtains = 168 ÷ 10.50 = 16 kg  

 
 
 
 
 
 
 
 
 

Ans:  16 kg 
 
 

 

 
7. 30% of run  4200 m 

 10% of run  4200 ÷ 3 = 1400 m 

 100% of run  1400 x 10 = 14 000 m 

 Time taken = 20 + 60 = 80 min 

 Average speed = 14 000 ÷ 80 = 175 m / min 

 

  

 

 

 

 

 

 

Ans:  175 m / min 
. 
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8. a) 

 Naya’s age = 2k - 3 

 b) 

 Lydia’s age now = 16 – 5 = 11 

 Naya’s age = 2 x 11 – 3 = 19 

 
 
 
 
 
 
 
 
 
 
 
 
 
Ans:  (a)  2k – 3 

(b)  19 
 

 

9. Percentage of chocolate and kaya buns sold = 
35

100
  + 

9
20

  = 
35
100

  + 
45

100
  = 80% 

 Percentage of blueberry and vanilla buns sold = 100 – 80 = 20% 

 20%   88 

 100%  88 x 5 = 440  

 

 

 

 

 

 

 

 

Ans:   440 buns 
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10. a) 

∠b and ∠c   are obtuse  

 b) 

 ∠a = 90 – 42 = 48 

 ∠d = 180 – 74 – 48 = 58°    

Ans:  (a)  ∠b and ∠c   

 (b)  58°    
 

 

 

11. a) 

 
1
4
  of total paper cups  Week 3 paper cups  180 

 Total paper cups  180 x 4 = 720 

 Week 5 paper cups = 720 – 200 – 80 – 180 – 140 = 120  

 b) 

 Week 1 paper cups = 200 

 Percentage of Week 1 paper cups = 200 ÷ 720 x 100 = 27.78% 

         

Ans:   a)  120 

 b)   27.78% 
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12. Ratio of number of adults to number of girls to number of boys  11 : 7 : 4 

 Ratio of buttons of adults to girls to boys  11x 10 : 7 x 5 : 4 x 4 

  110 : 35 : 16  110u : 35u : 16u 

 110u + 35u + 16u = 161u = 3381 

 u = 3381 ÷ 161 = 21 

 Number of buttons for adults = 110 x 21 = 2310 

 Number of adults = 2310 ÷ 10 = 231 

 Number of buttons for girls = 35 x 21 = 735 

 Number of girls = 735 ÷ 5 = 147 

 Number of buttons for boys = 16 x 21 = 336 

 Number of boys = 336 ÷ 4 = 84 

 Total number of participants = 231 + 147 + 84 = 462   

 

 

 

Ans:   462  participants 
 

 

13. a) 
 Volume in container A = 25 x 60 x 18 = 27 000 cm3 
  

b) 
 Height of water in container B = 18 x 2 = 36 cm   (as base is half) 

 Additional water to fill container B = (42 – 36) x 25 x 60 x 
1
2
  = 4500 cm3 

 

 

 

 

Ans:   (a)  27 000 cm3 

 (b)  4500 cm3   
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14. a) 

60%  66 – 12 = 54 

 10%  54 ÷ 6 = 9 

 100%  9 x 10 = 90 

 Total number of stickers = 90 

 b) 

 Number of stickers Lisa had at first = 0.2 x 90 = 18 

 At the end total stickers = 90 x 1.10 = 99 

 Additional stickers Lisa bought = 99 – 90 = 9 

 Number of stickers Lisa had at last = 18 + 9 = 27 

 Ratio of number of Lisa’s sticker to total = 27 : 99  3 : 11 

 

 

 

         Ans:  (a)  90 

          (b)  3 : 11 
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15. Let total number of tickets = 15u    (multiple of 3, 5) 

 Number of tickets Kamal sold = 
1
3
  x 15u = 5u 

 Number of remaining tickets = 15u – 5u = 10u 

 Number of tickets Larry sold = 
2
5
 x 10u = 4u 

 Number of tickets Muthu sold = 10u – 4u = 6u 

 Ratio of number of Kamal, Larry and Muthu’s tickets  5u : 4u : 6u  

 Ratio of sales of Kamal, Larry and Muthu   5u x 13 : 4u x 8 : 6u x 8 

  65u : 32u : 48u 

 Difference between Muthu and Larry’s sales = 48u – 32u = 208 

 u = 208 ÷ 16 = 13 

 Total sales = 65u + 32u + 48u = 145u = 145 x 13 = $1885 

   

 

 

 

 

         Ans:  $1885  

      
 
 
 

16. a) 

∠LCH = 180 – 138 = 42° 

 ∠BCD =  146 – 42 = 104° 

 ∠ABC = 180 – 104 = 76° 

 b) 

 ∠DLE = 180 – 42 – 90 = 48° 

 ∠DEL = 180 – 48 – 48 = 84° 

         Ans:   (a)  76° 

 (b)  84° 
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17. Radius = 10 ÷ 2 = 5 cm 

 Area of circle = π  x 5 x 5 = 25π  cm2 

 Area of large square = area of 4 triangles = 4 x 
1
2
 x 5 x 5 = 50 cm2 

 Area of medium square = half of large square = 50 x 
1
2
  = 25 cm2 

 Area of small square = half of medium square = 25 x 
1
2
   = 12.5 cm2 

 Shaded area =  (25π – 50) + (25 – 12.5) = 78.5 = 41 cm2 

 

 

Ans:  41 cm2 
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Show your working clearly in the space provided for each question and write your answers in 
the spaces provided. 
 
   

6. a) 
 
 Cuboid 
 
 b) 

  
  
 
  
  
 
 
 
 
 
 
 
 
 
 
 

Ans:  a) cuboid 
         b) as shown in diagram 
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7. ∠PQR = 180 – 75 = 105° 

 ∠QPT = 90 – 75 =15° 

 ∠PQT = 180 – 15 – 15 = 150°   As PQT is an isosceles triangle 

 ∠TQR = 360 – 105 – 150 = 105° 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Ans:  105° 
 

 

 
8. Number of cards = 504 ÷ 126 = 4 

 Difference between average and smallest number = 126 – (6 ÷ 2) = 123 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Ans: 123 
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9. a) 

                         
 b) 4 cubes added 
  Total cubes = 6 + 4 = 10 
  Total volume = 10 x 1 = 10 cm3  
 
 
 
 

Ans:  (a)  as shown above   
                  (b)  10 cm3  
 
 

 
10. Jaah’s timing = 100 ÷ 7 = 14.28 sec 
 
 Kane’s distance = 100 – 2 = 98 
 
 Kane’s speed = 98 ÷ 14.28 = 6.86 m/s 
 
 
 
 
 
 
 
 
 
 

Ans: 6.86 m/s 
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11. Let shaded area = 11u 

 Area of unshaded VWY = 28u – 11u = 17u 

 Area of WXY = 28u 

 Area of half circle = 11u x 2 = 22u 

 Total unshaded area = 17u + 28u + 22u = 67u 

 Total area = 67u + 11u = 78u 

 
 Ratio of unshaded area to total area = 67 : 78 
 
         Ans:  67 : 78:  
 

 
12. a) 140 brand B pens sold 
 b) Brand D pens sold = 90 x 2 = 180 as shown 

 
 
 c) Sales of brand A = 90 x 3.50 = $315 
  Sales of brand B = 140 x 2.40 = $336 
  Sales of brand C = 130 x 2.50 = $325 
  Sales of brand D = 180 x 1.80 = $324 
 i) true 
 ii) Not possible to tell 
 

Ans:  (a) 140 
         (b) 180 as shown 
         (c) i)  true 
              ii) not possible to tell 
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13. Number of bricks on base of box = 6 x 18 = 108 
 
 Maximum heights of the bricks = 36 ÷ 3 – 1 = 11 
 
 Maximum number of bricks = 11 x 108 = 1188 
 
 
 
 
 
 
 
 

Ans:  (a) 108 

         (b) 1188 
 
 
 
 
 
 

 
14. Let number of small sized bottles = u 

 Number of large sized bottles = u 

 Number of medium sized bottles = 3u 

 

 Total amount of water = 0.25u + 0.5 x 3u + 0.75u = 35ℓ 
 2.5u = 35 
 u = 35 ÷ 2.5 = 14  
  
 Capacity of medium sized bottles = 3 x 14 x 0.5 = 21 ℓ 
 
 
 
 
 
 
 
         Ans:  21 ℓ 
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15. Length of cardboard = diameter of 10 circles + 11 spaces = 10 + 11 cm = 21cm 
  
 Breadth of cardboard = (64 – 42) ÷ 2 = 11cm 
 
 Number of holes along the breadth = (11 – 1) ÷ 2 = 5 
 
 
 
 
 
 
 
 
 
 
         Ans: 5 
 
 
 
 

 

16. Let number of Zany phones sold in Shop A = u 
 Number of Zoro phones sold in Shop B = p 

 
13 + u = p + 15  
 
Difference in pricing  = 999 – 599 = 400 
Difference in number of Zany phones = 2000 ÷ 400 = 5 
 
u = 15 – 5 = 10 

 p = 13 + 10 – 15 = 8 
 Number of Zoro phones sold by Shop B = 8 
 
 Shop A’s collection = 13 x 599 + 10 x 999 = 7787 + 9990 = $17,777 
 
 
 
 
 
 
 
 
 
 

Ans:  (a)  8 

         (b)   $17,777 
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17. a) Most amount of rice was consumed on Day 5 

 b) Percentage of consumption by Day 3 = 1.4 ÷ 5 x 100 = 28% 

 c) Number of cups on Day 7 = 2.2 ÷ 0.2 = 11 cups 

 

Ans:  (a)  Day 5 

         (b)  28% 

         (c)  11 cups 
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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. a) 

 Number of notebooks = n 

 Number of pencil cases = p 

 p + n = 30      (1) 

 9p + 9n = 270     (2) = (1) x 9 

 12p – 9n = 87     (3) 

 21p = 357 

 p = 17 

 Number of notebooks = n = 30 – 17 = 13 

 b) 

 Cost of all pencil cases = 12 x 17 = $204 

Ans:  (a)  13 
 (b)  $204 
 

 

 
7. Let total distance from house to park = 15u    (multiple of 3, 5) 

Remaining distance = 
2
3
  x 15u = 10u 

Walking distance =  
2
5
  x 10u = 4u 

Walking distance = 2.5 min x 80 m/min = 200 m 

4u = 200m 

u = 50 m 

Running distance =  
1
3
  x 15u = 5u = 5 x 50 = 250 m  

Running speed = 250 ÷ 3 = 83.3 m / min 

 
Ans:  83.3 m / min 

. 
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8. a) 

 In Year 2013 the height of mango tree was double that in 2011 

 b) 

 Average height from 2012 to 2015 = (50+70+95+130) ÷ 4 = 86.25cm 

    

 

 

 

 

 

 

 

         Ans:  (a)  2013 

 (b)  86.25cm 
 

 

9. a)  

Total buns sold last week = 2y x 5 + y + 50 + 3y – 15 = 14y + 35  

= 14 x 28 + 35  =427  

 b) Discounted price for each bun = 1.50 x 0.6 = $0.90 

 Total sales = 427 x 0.90 = $384.30 

  

 

 

 

 

 

 

 

 

Ans:   (a)  427 
 (b)  $384.30 
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10. Let final level at X = 4u 

 Final level at Y = u 

 Total volume at first = 90 x 35 = 3150 cm3  

 Total volume at last = 4u x 90 + u x 60 = 420 u 

 420u = 3150 

 u = 3150 ÷ 420 = 7.5 cm 

 Final level at X = 7.5 x 4 = 30 m   

  

 

 

 

 

 
 

Ans:  30 m   
 

 

11. Let area of paper at first = 40u 

2
3
  of remainder painted blue  

1
4
  of total  10u 

  
3
3
  of remainder  

3
2
 x 10u  = 15u 

 Area painted yellow = 
1
5
  x 40u = 8u 

 Area painted red = 40u – 15u – 8u = 17u 

 17u = 85 

 u = 5 

 Area of paper = 40 x 5 = 200 cm2 

 

 

Ans:  200 cm2 
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12. a) 

∠CBD = 180 – 80 – 90 = 10° 

 ∠BDC = (180 – 10) ÷ 2 = 85°   (isosceles triangle) 

 b) 

 ∠DBF = ∠BDC  = 85°    (alternate angle) 

 ∠BFG = DBF = 85°     (alternate angle) 

 ∠BFE = 180 – 85 = 95°  

 

 

 

 

Ans:   (a)  85° 
 (b)  95° 

 

 

13. a) 

 First 10km charges = 10 ÷ 0.2 x 0.1 = $5.00 

 Fare of last 6 km = 6000 ÷ 150 x 0.1 = $4.00 

 Taxi fare = 2.50 + 5.00 + 4.00 = $11.50 

 b) 

 Morning fare minus surcharge = 18 – 2 = $16 

 Fare after 10km = 16 – 2.50 – 5.00 = $8.50 

 Distance after 10km = 8.50 ÷ 0.1 x 150 = 12.75km 

 Total distance = 10 + 12.75 = 22.75 km 

  

 

 

   

Ans:   (a)  $11.50 

 (b)  22.75 km 
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14. Area of large quadrant = 
1
4
 x 

22
7

 x 28 x 28 = 616 cm2 

 Area of small quadrant = 
1
4
 x 

22
7

 x 14 x 14 = 154 cm2 

 Area of right side shaded areas  

= large quadrant – small quadrant – (rectangle –A) 

Difference in area of 2 shaded areas = large quadrant – small quadrant – 

rectangle + A – A 

= 616 -154 – 28 x 14 = 70 cm2 

  

 

 

 

         Ans:  70 cm2 

 

 

15. a)   

Number of small stars = 20 x 
5
4
  = 25 

 b) 

 25 small stars + 14  small stars = 12.48 m     

 Length of each small star = 12.48 ÷ 39 = 0.32 m 

 Length of each large star = (12.48 – 14 x 0.32) ÷ 20 = 0.4 m 

 Remainder number of large stars = 35 – 20 = 15 

 Length of 15 large stars = 15 x 0.4 =  6 m 

 Remainder number of small stars = 20 -14 = 6 

 Length of 6 small stars = 6 x 0.32 = 1.92 m 

 Length of remaining stars = 6 + 1.92 = 7.92 m     

         Ans: (a)   25 
         (b)   7.92 m   
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16. a) 

Ratio of number of men to adults  3 : 5  3u : 5u 

 Ratio of number of boys to children  1 : 2  1p : 2p 

 5u + 2p = 300    (1)  Total number of people 

 3u + 1p = 166    (2) 

 6u + 2p = 332    (3) = (2) x 2 

 u = 32      (4) = (3) – (1) 

 Number of adults = 5u = 5 x 32 = 160 

 b) 

 3 x 32 + 1p = 166    substitute u into (2) 

 p = 166 – 96 = 70 

Number of girls = 2p – 1p = 1p = 70 

  

             

         Ans:  (a)  160 

          (b)   70   

 
 

17. a)  
Let number of $5 notes at first = u 

 Number of $10 notes at first = p 
 u + p = 27       (1) 
 5u + 5p = 135      (2) = (1) x 5 
 In the end, 

 
1
4
 u = 0.4 (p + 12)      (3) 

 5u = 8p + 96       (4) = (3) x 20 
 5u – 8p = 96       (5) 
 13p = 39       (1) – (5) 
 p = 3 
 u = 27 – 3 = 24 
 Total value of $5 notes = 24 x 5 = $120 
  

b) 

 Total value at the end = 
1
4
 x 24 x 5 + (3 + 12) x 10 = $180 

Ans:  (a)  $120 
 (b)  $180 
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